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18U/94/29(Set-1)

No. of Questions : 100
e BT G - 100

Time @ 24 Hours | [ Full Marks : 300
WHY o 2V U2 ] [ guIg: 300

Note: (1) This question booklet contains 100 (hundred) questions in all (30 in
Section-A and 70 in Section-B). Attemnpt as many questions as you can.
Each question carries 3 (three) marks. One mark will be deducted for each

incorrect answer. Zero mark will Be awarded “or ageh unattempted

question,

4 aE=gRewt # e 100 () W S @REat ¥ 30 9 wre—a # 70),
Cﬂﬁ?ﬂﬁ‘mﬁmﬂﬂﬁﬂﬂﬁtﬂﬂ?ﬁ‘ﬁﬂ?ﬁﬁmmﬂﬂS{Eﬁ“-‘r}ahﬁaﬂé’l
m?aﬂaﬁﬂﬁ?a?!%wwﬁmm:mﬂﬁﬁﬁmaﬂuw
I B |

(2) If more than one alternative answers seem to be approximate Lo the

correct answer, choose the closest one.

o vafae defesd TR WE W @ Free i @ a4 fwend @8 o

g |

(3) PLTE:
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1.

s B
Trs —- A

Which one of the following is an indicative of the quality of teaching ?
{1} Maintains pindrop silence in the classroom
[2) Raises very standard questions
(3) Students reply in the dassroom
(4) Pass percentage of the students
oy 9 00 rr%mmaa-gmcﬁ'wiaﬁ‘rra?
(1) wen d IOt gt ST
(2) WA T B G
(3) BT BT heT W ST 4
(4) e H S vl TS EI

The main objective of a test in ¢lass 15
(1) To repeat whatever is taught till now
(2) To gauge educational ac
(3} To train students to MY La a
(4) To give practice of writing
e H @ TR F1 [ I T
(1) @ TF o @e verd T & TP ATETrl
(2) 9fdve Suafdr @1 T EE

(3 Erenfain} &) foas @ q?ﬂﬁuﬂ?ﬁrﬁ%ﬂﬂﬁ‘{%ﬂm
1) fomas @1 R TE GA1

The most significant role of a teacher in a class s to act as a person who is
intended to:

{1) Teach content lo the students (2) Ensure discipline amonyg students
{3y Train the students (4) Guide the students

TH SRATTE B [ sgmu fie, e A Uw Oy afd & il § O

(1) vE @ fAya.ag T (2) o B SR @3

(3) BTl w7 ufEiée WY (4) O BT AETCETE @

(4)
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Instruction : On e basis of the following contents, answor the question itntbers
11&512:
=i fAva.avg & aper gv g T= 11 912 & gov o
There are six persons A,B,C, D, Eand F.Cis the sister of F. B is the brother of
E's husband. D is the father of A and grandfather of F. There are two fathers,
three brothers and a mother in the group. Then answer question 11 and 12 .
B AR A, B, C, D, E &R F & CERATTBES R 2D, A 27
ﬁmﬁsﬁﬂ?wm%mﬂsﬁaﬁﬁm T Mg SR we A ) wope 1 T 12
& IR |

How many male members are there in the group ?

(1) one (2) two (3) three (4) four
e A fha oy wewy #
(1) UH (2) <1 (3) ®i (4 gy

How is F related to E ?

(1) Ungle (2} I—Iusbanﬁa d d a {4) Daughter
F.E 9 &% Usfg 2 ?

(1) = (2) wfa (3) g= (4) T

Which of the following does not belong with the others ?

(1} Guitar (2} Flute (3) Vielin (4) Sitar
e | W B o W i T8 2 o

(1) frer (2) argdt (3) Trafer (4) Rer
If the day before yesterday was Thursday, then when will Sundav be ?
(1) Today (2) Two davs after today

(3} Tomorrow {4) Day after tomorrow

of% Tl & uEe gEvRiaR o, W) W P @

(1 & (2) &5 B 21 37 am
(3w (4) B B a5 w2

(7) P.T.O.
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All of the following are applicable for teaching to create good motivation
among students except that teaching should :

(1) be brief

(2) relevant to the pupils

(3) be related to the lesson that follows

(4) always come from the teacher
ﬁmﬁﬁmﬂﬁfﬁﬁﬁﬁﬁaﬁaﬁmiﬁwcﬁ%ﬁméiﬁaﬂwﬁ
(1) Frer dfér g9 afed)

(2) R ot & ey g iy

(3) R vgr 9 7@ o & T BT ARy

(4) Freror ehem swanys & sner T

Children generally remember those things.thatthey :

(1) learn by doing themselves (2) listen from the mouth of teacher
(3) watch on the television in books

T=) WG 9 St @ arg Tlad d

(1) v &va e & i=? g &

(3) gevq W aud @ (4) geasr ¥ geg #

In various teaching methods, which is designed to modify the learners'
behaviour 7

(1) Subject matter (2) Learner (3} The teacher (4) School

= e fafagr 4 ‘%}TﬂﬁﬂﬂQﬁZﬁmﬁmﬁwﬁﬂﬁﬁ%ﬁﬂq%ﬂﬁﬁ‘mW
-5

) forrg avq (2) srfermae (3) R (4) fammem

The most powerful barrier of communication in the classroom is :
(1) Lack of teaching aids

(2} More outside disturbance in the classroom

(3} Confusion on the part of the teacher

(<1 Noise in the classroom

(5) PT.O.
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15.

16.

17.

18.

19.

i 1sl October is Sunday, then pul November will be

(1) Monday (21 Tuesday (3) Wednesday (4) Thursdav
afe 1 arreat w1 AR B S ﬂlﬁﬁr{ﬂqﬂ—mrfhﬂm !
(1) TranR (2) AR (3) quan (4} FewitEn

If 25th of August in a year is Thursday then, the number of Mondavs in that
month will be

(1) three (2} four (3) five (4) six

A Pl e A 25 sea gEeEfier @ gl B T 99 HEN T WETER @ T
ARl

(1) A= (2) IW (3) 4

Pointing todd woman, a man caid, “The sister of her mothet’s husband 1=

aunt.” Haw is herelated to that woman ?

(1) Nephow {2) Fathes B Unele (41 Brother

e allE w1 SR WY BY, Q‘ﬁ ey 1 A, Yaum T o o gue o @
3 e gy wRen @ @¥ 2

(1) arer (2) o

L) g

| am facing East. I turn 1007 in Whe clockwise direction and then 145 in the
anticlockwise direction. Which direchion am 1 facing now ?

(1) Easl (2) North-East (3) North (4) South-Wesl

# e o) Atk gs fa g1 % wgul W fan (wfdongg) 5 100° S ﬁ g
qo 145° o 1 ggar @ Ry far (@ gt i1 AR a9 e few R g

1) T (2) TS (3) e (4) ﬁ*é?"u'mﬁ‘ﬂ

Train: Track::?

(1) Idea: Brain (2) Bullet : Barrel

(3} Waler : Boat (4) Fame: Television
oL | RPRar o] I

(1) fa « Afkaws (2) qere « I

(3) Tl : AT 4y A cfafras

(8)
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IFSHARP is coded as 58034 and PUSH as 4658, then RUSH is coded as -
(1) 3568 (2) 3658 (3) 3685 (4) 3583

i3 SHARP &) |iefis v (@) & 58034 ey WA & a2 PUSH & 4658
e faar wiram 2 @ RUSH & &9 wre fsar oo 7

(1) 3568 (2} 3638 (3) 3685 (4} 3583
RMSA is related tor.............. education,

(1) Primary (2) Higher (3) Secondary (4} Technical
AR U UFQ fen & wafda &

(1) mafas (2) 9= (3) wreafis (4) Tesdran
‘Gyan Darshan’ is related to -

(1) IGNOU (2) NCERT

{3) UGC (4) NCTE

HM I el 8

(1) 3994 (2) I < =

(3) w7 4l € aR A dﬂwag i

Who was the Chairman of Natina : : ission ?

(1) Sam Pitroda (2} Krishna Gopal

{3) D.DP.Singh (4) Ved Prakash

TG S AR BT Sremsy B oy ?

(1) #7 fster (2) FWT MU

(3) Fiodlo g (4) 98 "dmr

‘Planning Commission’ in India has been renamed as -

(1} Artha Aayog {2} Planning Commission of India
{3} NITI Aayog (4) Vikash Aavog

HRT H T S B Q9 S S T

(1) a9 ayram (2) @ifr wiew st gfem

(3) A amm {4) freBTes SRiTT

(9) P.T.O
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25.

26.

2F,

28.

29.

30.

Which State has maximum number of 'State Universilies in India ?

(1} Rajasthan (2) Uttarakhand (3) Uttar Pradesh  (4) Gujaral
aqred @ Brg von § wdifOw Oy fomafermay ¢ ¢
(1) T (2) SEIETE (3} gl yed (4 Tl

"World Environment 1a }" is celobrated on :

(13 5th September (2) 5th June (3) 15th August  (4) 23rd January
e etk e @a AT FRI 8 7
(1) 5RmraR &1 (2) 391 @ () 15T R (4) B @

When 'National Youth Dav’is celebrated ?

(1) 12 June (2} 12 August (3) 12 January (4) 12 October
vt AT faaRy T A 9 @ 7
(1) 1254 &I () 12 SR (By 2 TRl Dl STCA @T

111 which State 'Vishwa Bharaty University' is situated 7

(1) /Assam (2) @t limachal Pradesh

(3} Bihar aqd aimhai
faeg WA [aegiaaterd v

(1) @ (2) faurae uae
(3) faEm (1) uf¥as qurd

Whao is the author of the book 'igniled Minds' 7

(1) Yashpal (2} Vivekanand
(3) A.P.]. Abdul Kalam {(4) Karn Singh
A HIZVEE B @ B 7

(1) F9dTe (2) i
(3) To Yo Ho g HelH (4) @l fEe

In which year Indian Parliament enacted RCE Act ?

Y Wi 7 q4 &ﬂ?r:-'é‘[:;;ﬂ'ﬁf;;. s g ?
(1) 2000 (2) 1992 (3} 1986 (4) 1993

(10)
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SECTION -B
grg — §
31, The value of lim -Vx is ;
¥l (cos ! x)?

1 1
'l = A
(1) 5 (2) 1 (3) 1 (4) 0
lim !
=l {cos ™ )?
1y 2 @ 1 3) 1 4) 0

2 EE “ )

I {1+x3}
32. The value of lim——g—i—- is
=0 sy

(1) -1 (2) 0 (3) 2 (4) 1
3

|imm—"c’r“—1”—}a?rm:r§*:

V=0 gind y

(1) -1 d (4) 1
33. Let IR be the set of all real a aalue of %, the function

IR = [R defined by

‘f_-.;z_zx_,3 when 1 # -]
fl)={= ;7 When

2 , when x=-1

1s continuous at x = 1.
(1} 4 {2) 4 (3} 2 (4) =2
IR &) aredfdes Tensii &1 wyeg 2] 9, @ g 7 @ fao

_ﬂ:_‘l}= i I+]....L’ o |

ART ORAIRET e fi IR IR v= -1 98 Hag & 7
(i) 4 (2) — (3) 2 (4} =2

(11) P.T.0.
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32 =11 . :
34. Derivative of sin™'| — | with respect to vis:
\ st 3 !

1) — o % @ Lo W —
14 x2 - {1+.1':} L e o
{x2-1) :

sin ]Iie,——1' T JdHen 2
Lx® +1

i
2 2 1-x 1
1 - (2) {3] —— (+4) =
= 1+ x° {1+x2] g | B
1 1
35. [f cosy =xcos(y +a), then value of i_ 1
TRy
cOsa sin

(1) — Oy L .

cos Ay +a) cos” (Y + i)

i : 2

cos (Y +a COs(y )

oF A s L i '
sing cosi

ife cosy= xcos(y+a), O a a

- ST i

(1) ﬁ”_. (2) 2"‘ .

cos”(y +a) cos“ (i +a)
5 .
cos“(y+a cos(y +a

@ LD L Vi)

S COsa
2yl By
36. If e 1, then value of 5183
a“ b dx

LB it b by’

(1) = 2 S5 (3) —— @ o
ay a“y- air 1"

2 ]12
-l A g5 Y wram e
- - dx”
b? p b i

() (2) (B p (4) <L

”?Ff3 Ay u*_:f'1 q°

(12)
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n'if:.’ rac_iru.q of a spherical balloon is increasing al a rate of 10 cm/sec. When the
radius is 15 cm, the surface area of balloon is increasing at the rate of -

(1) 120 7 cm?2/sec. (2) 100 m em2/sec.
(3) 1200 7 cm?/ sec, (4) 1000 m cm2/sec,

w*ﬁ?{ﬁmqmﬁ-aﬁ%mrrmﬁ#a/ﬂuaﬁﬂﬁaa?ﬁ%;mgaﬁaﬂﬁw
15 wifte # M B T ded agy @ 2w 3

(1) 120 7 9% /<90 _ (2) 100 = ¥ /2o
(3) 1200 = ¥ /Ho (4) 1000 7 0 /90

The local minimum value of the function f{x]=[sjn‘1r+cu_~;4:ﬂ inQ<x< E,
2
15 :
1 1
(1) 0 n () 1 (3) — e

L

Tl f{x}=t_'sin4x+ms4:r] Bl Ff‘ﬂ*lﬁﬂ AT U-::‘I{%, W e H R

1
il N1 8

The function f(x)=x", x>0 is increasing on the interval :

. 1
(1) () @ [, ) o) [;,m-} @) (-]
werd f(x)=x, x>0 3 SR § ged BU %A H
1
1) () @ e ) [—,mJ @) (=o,e]
!3
The value of _fsin o .\|| —_dy, is (where ¢ being the constant of integration) :
a+x '
(1) ﬂtaﬂ_!JE+f‘ (2) acos™! -'[£+:r
a Va
vl o P
{3) xian"'ﬁ+c {4} rtan™— ,ij tatan ’-’1-—5,1'”,1'”'
a Va Vo

(13) P.T.O.



18U/94/29(Set-1)

r 1
sin oy,
’ \l i+ X

v sl
‘\H.! it

e |

; R —
41 xlea ' l Fatan R A
(4} xlan ".'Ir!

1 A 3 (E ¢ (@ e B3R 1)

(3) vlan ! \}i >,

-

41. The valucof I.\'hiﬁ ey, is
i

() @ = &) 22 (@)

wa | A
G
T

Fl

].rf:'m 3 A BT E

0
T in O
1) = (2) — e B Ay -
(1) 2 ) 3 3 3 (h w
42. The value of fcot T1-x+ 1ad d a
i
(1) m+logl (2) n-logl (3 g—lngi () ;[ugl
} *
jﬂﬂi-!“.'—.‘l.'-i- x= )iy = BT ¢
h]
(1) 7 +log2 (2) n-log? (3) 5-log2 () log2

43. [he arca ol the region bounded by the parabola sz =2y +1 and the linv
X=y= l,1s:
v o ; 8 ; A2 _ 2}
(1) Y sq. units (2) 3 sq. umts (3) T sq. units (4 = <. Units
BEGED 3,1 Syl T G I x-y=1¥ R gy &7 i

-

16 . 8o LY. 2 :
(0 ?m[ ﬂ = {2) '5 am gtd (3 --1- EEll q‘%{ff {4 .T?U Rl 11‘]'1“:[?:

=

(14)
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£ N
The order of differential equation q +s5in/ d—-[i - (), 1%
Ly L.:f_'l.""_,.l

(1 3 (2) 4 (3) not defined (4) 7

ef'j:; ) ( n"ll_q
HdheT FAATEHY] oIS —¢ =0, @ B () &

dx dx’ )
(1) 3 (2) 4 (3) uRemfier 8 & (g) 7

The differential equation representing the family of ellipse having centre at
origin and foci on x-axis, is -

f}'l rt.'!ri 2 d 2 ¢ 2
(1) X_l,.fl[——-zi-rx(—-‘—f_r} —y—‘]{:{} (2) i-!’_'l.,,[ﬂ’f] ._EIE.:U
dy dx / dx dv? | dv | dy
A’y fdyy 44 ;
3 x—=+y =] Ly=p 3y e ¥l FOUY
Y ) Sl rl ax) Y0

2 ¢ p
1) ol Wl

3
G Xl — — =) -
Cdvt l dx ) ‘U.c.’.m' %) 2 T fda
d*y Ay 1 ‘i
(3) I——‘,—+y[%] +y=0 a -ri)—yzn

dx~ RNy F L)

In a bank Principal increases at the rate of 5% per vear. The number of vear in
which Rs. 1,000 double it self, is

(1) 20 years (2) 10 years

(3) 20log, 2 years (4} 10 log,. 2 years
aﬂs‘aﬁﬁmﬁ’rﬁ?ﬁﬁﬁ%mﬁcﬁﬂﬁﬁmé%ﬁﬁﬁﬁ],D{]{] wo I P
Bl SR ?

(1) 20 aq (2) 10 =4

(3} 201log,2 o (4) 10 log, 2 =t

T'he solution of initial value problem (x - sin w)diy+ tan iy dy = 0, W) =0, is
(1} y=sin _]{Zr} (2) ¥=siny

{3) v=tan il () rvsiny + -j—cmi]f =)

(15) P.T.O.
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s A AT (x - siny)dy +tanydv =1, ) =V,

Y2

(1)

i = sin

(3) r=tlan}y

i)

v =siny

(+)

TR

. 1
r=mnty '—Ecns"'l_u =}

48. Assume that a spherical ram drop ev apurales at the rate propectional to it
surface area. If its radius originally is 3 mm and 1 hour latter has been reduced
(o 2 mm. The time in which rain drop disappears is
(1) 6hr (2) 4 hr (3 3hr (4) 2 hr
e 7 form 8 fip T AR aqi Wl q\ﬂ & ey 8y SiE T?f?s;
sEme @ e €|t 9@ £ grefr (o 3 il & qur U6 de 313 59
o 4 gt 2 (e w8 o 3 o1 fra o aig Ae @ 4 g Tl
(1) o (2) 47l (3) 3 HET (4) 2 ¥l
49. The line fnormal to a given €Ut at cach_point (X wWan the Clrve passes
through' the point (2, U}. I the curyoacomtain s e 2=, the eguation of
cury e
p X
(3) ”—‘ =4y TJ.' N +’3‘|,r
g B e g (v, y) R HrE A sfrar firg (2, 0) 91 R4 ufe um
e R U A (2,3) Red & &7 9 v @ SIS
LS I? ? 2 "
{1y v~ =2x- e (2} x*+y" —4x=5
1'_'“ |-"J —] '-1.'..'|."|'_1|.'2 ['_]."l _'k'."l' +2.U! | ;1.
]
50. d=i+j+kand C=j-k are given two veclors. I [ satisfying the condition
Gxb=¢and ib=3.Then b is:
SO L z e s Tl
(1) hezit=j+=k (2) b==i+=7+=k
3 733 37373
B 2. 2- T
3 |!?=—f+:-+:k ! R sy
() B=3t+3/%3 ) b=gi-3j+3k

(16)
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=i+ j+k U E=j-k O ARy IR E ;o b 3 TER & B iixb ¢ @
ddr 3T D HI B

=] 1= 1= 2 2T

';“ h=—j+- +— 2 T P I N
EE 2 begitaivgt

g o3 _%’f &g 5 2+ 2

Bl PEgirgregt @ b=gi-3ie3t

[ @,b,¢ are three unit vectors such that ]r’:’+5+[‘f:1 and a is perpendicular

o 0. If ¢ makes an angle « and {3 with @ and b respectively, then value of
COS 0L+ cos s

3

M 2 ® -3 () 1 @) -1

afX ,b,¢ -1 vhd afRw AR o woR # B |d+b+f|=1 9w 4, b T @
Bl Afd ¢, a aum b & FAI o TP FIOT G & A cos a + cos p FT A &

M 3 (8ol 3 1 @) -1

2

Two integers are selected at random from integers 1 to 11. If the sum is even,

the prabability that both I']"u*numberqa}
| 6
(1) 3 (2) - (EI (4) T

1911 a% & quiel ¥ 9 ggwsan 6 < quie! &1 ga fEa smar &) afy gt
HT A T G B, 0 Sl deal & v gm o witea §

1 2 3 6
0 3 @ < 3 = @) =

A class consists of 80 students, 25 of them are girls and 55 boys; 10 of them are
rich and remaining poor, 20 of them are fair complexion. The probabilitv of
selecting a fair ::omplexi{m rich girl is:

5 5 -

Lt = Tt 1
o 16 @ 128 ) 512 E 512
wF war § o 80 B § R 25 wefHdr aen 55 we ¥ 794 | 10 o v €
M7 9 BTy T € qu T B A U 20 TR MR I B F) v AR T B
et & gafia & @ ol 2

. 5 5 i

T “ T 55

(17 ) B0
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54, Three persons A, B, C thrown a dic in succession Gill one geta "Six™ and win the

55.

56.

57.

game. The probability of winning B is :
! 36 3‘.} o |
o 4% L ay
(1) 3 e (3) (4 5
= @f A, ertﬁrﬂmwa‘wq—cﬁﬁ"mﬁmegi g e Jd W

S @ (&Y YrEwe S wrd T8 el dl B # A e A g §
1 36 30 I

5 = s = il -2

U 0 = () W

A die is tossed twice. A 'Success' is "getting an odd number” on a random toes,

The variance of number of ‘success’ is :

l : 2 3
) 3 @ 3 (3) 1 W 3

qzﬁ:rﬁzﬁrﬂﬂrﬁ—m TE | AT W T U o e vien g g
TR B CAEEar & e @l (%) U= @1 & 7

2 3
Iy = ) = A 1) =
(1) 2 (2) 3 (31 () 5
Ifm e N and m = 2, then value of ”’i I "'H“{q] | is
(1) (2} m{u {4) 2
W om e NTH w2 r'”[ Lk ]C] ”+sz( AT B
|“£F JJJ‘+|C2 ”I"f.z;
(Ty m (2) m(m + 1) (3 1 (4) 2
f2 3 1 4
The rank of the matrix A={0 1 2 —1lis:
0 -2 -4 2
(1) 1 (2) 2 (3) 3 (4) 4
[2 3 1 4]
m%ﬂﬂolz—Iw%é
LD =2 ey :J.J
(1) 1 2} 2 (31 3 (4) 4

(18)



58.

59.

60.

61.

62.

18U/94/29(Set-1)

If (1)~ log, flogs {log 1(18x -+ -77))1, then domain of the function f{x) is :

(M (7,11 | (2} 17, 11] (3} (8,11) (4) (8, 10)
g fix)= log II sllog L (18x = —??j}}, o7 BT flx) 1 9T (domain) ¥
) 7, 1) {2} [7,11] (3 (8,11 (4) (8, 10)
2 e 2 pee
The value of cos” 33 —cos” 57 is
o2l 3 6{}
sin —sin
)
O V3 @ = () -2 @
) G “ 2
o5 ;53 —C0s” 57 7 A
sin? L—Hm? ﬁ
2
1 1
(1) V2 (2) —= (3) -V2 (4) —
W oL 2
Solutions of equation J2 secO+ tan 0= T Fi ™
(1) 02, ne Z —2”1’[—— ne’z
(3) i‘!=2nn+§.nez ad al)— HeZ
TR A2 secO+ tan 0 = 1 &7 wrgof & &
(1) 0 =2nm,neZ (2) e:znn—%,nez
m : b3
(3 'D;Efm+z, ne s (4} H={2H—']}E,HEZ
If x + 5= 4i, then value of x* +9x” +35x% —x +4 is:
(1) 160 2) 16 (3) ~160 4) 0
A v+ 5=4i8 ¥ 19 + B/ _xrd FHH
(1) 160 (2) 16 (3) =160 4 0
The argument of complex number ;hl = is
COS— + {8in -
3 :
L 5y 28 3) = (y 2
3 )3 G 3 T

(19) P.T.O.
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63.

64.

65.

66.

- ¥ I_!' o bt y - e
i @ —————— Wl SH) TS 6

B g
COs -+ s —
'Ii

T S it i AR
1} = 7 = 3 = (e =
23 15 W3 B
\ | :
If ce, P are roots of the equation 4r? +3x+7 =0, then —+— is equal Lo :
¥
7 7 7 ; 3
[d¥ = (2) — (3 = 1 -
T, B TG D £ 3547 =0 @ qer 2, l+ﬁl &1 #
(f
7 7 7 3
1} — 2} = (3 —= (4) —=
(1) 3 (2) 5 5 -
. _ x4 2Hx=5)y x-2
The number of roots of the equation : JE = S i
(x=3Hx+6) x+4d
(1) 0 (2) 1 & & (4} 3
(x +2](‘r; 5} ._1'—_3 e
' {x-3(x 1-6 ¥+
(1) 0 iEEl : 4] 3
j
In inequabon _;} the value of ¥ 15:
X-
(1) (==, 3] {u 3 {3 (1,3] 4 [3, =)
2y +4 . .
Irfam : >5 %y @ A &
x-
(1) (3] (2) 1,31 (3) (1,3] 3 13 7)
By using the digits 0, 1, 2, 3, 4 and 5 {repeatition not allowed) number are
formed by using any number of digits. The lotal number of non-zero numbers
15
(1) 1630 {2) 1625 (3) 1030 (4) 1330

0,1,2 3 475 Adl & g e T R A @ wae g dnnad m o]
AR 8§ (afl @1 geRighr weig T8 8)
(1) 1630 (2) 1625 (3} 1030 (4) 1330

(20)



67.

68.

69.

70.

71

18U/94/29(Set-1)

A polygon has 44 diagonals, the number of its side is :

(1) 10 (2) 11 (3) 12 4) 13
T A b R B W= 44 2, @ 99 el @) ween @
(1) 10 (2) 11 (3) 12 (4) 13

Among 14 player 5 are bowlers, in how many ways a team of 11 player may be
formed with at least 4 bowlers ?

(1) 180 (2) 265 (3) 264 (1) 263
gfe 14 Paenfet § 9 5 gow & Enmq*lm1q1¢1{r?ﬁ¢79411f?§ﬂf‘rﬂ’rm“rah
fr yaie F a1 o TEdl E

(1) 180 (2) 263 (3) 264 (4) 263

If the coefficients of (r - 5)™ and (2r - 1)" terms in the expansion of {1 + 11" are
equal, then value of 'r"is

(1) 12 (2) 13 (3) 14 (4) 15
afy (1 + 0N @ WK (- Syl @ - i el @ e Gaes 8, o ' wl T

=
[

iy 12 (2) 13 (4) 15
S, denole the sum of the first Ja ‘ a e, then 1s equal

fo:
(1) 6 (2) 5 (3) 4 (4) 3
FAR ST (AL D) & W o uel &1 am S, gR FERm 2 afy sy, =35, B
23 gy e & -
1
{1) 6 (2} 5 (3) 4 4y 3
5 2 (
The sum of the series = -P-Eii E-.L §iJ+ ...... tan termsis:
3 9 27 81
(1) n—l{B””H_} (2y ](?.'f 1} (3) :1—1(1_3‘”} (4) l('r'-'_-;]
2 2 2 3 2 il
EHE_&E+ ______ G RNTR e A B TR LU -
3 9 27 Rl
: . b e
(1) n——i{f%"'rn () f.r--j{.%‘—J} (3] ,.——{‘ 37 5(3 ¥

(21 ) P.T.O
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72. The variance of following datas
63, 68, 58, 44, 48, 45, 60, 62, 60, 50 is :
(1) 641 (2) 85.13 (33 33.0 (4) 56
Frerifha aifes! &1 TE (69) &
(5, 68, 38, 44, 18, 45, 60, 62, &0, 30
(1) 64. (2) 8.13 (3 231 (4} 56

: T : P e ; .
73. The area of equilateral triangle inseribed in the cirele A+ y7 =60 =8y -25 -0

(1) 225 (2) (3) Sl — 100 (4) Sz
I 2 +_1,"j 6y -8y—25=0 & st R b LT f}d'ﬂui G i o

(3} 30T~ 100 (4} A

(1) 225 (2)

74.  The sumdf the focal distances of any-pointon the cllipse y +1ﬁ]r3 =13, s

(L)52 (2) 16 (3) 18 (4] &
drdqf Oa” +16y° =1 @ 2 7 AR ARGARE IR IR
(1) 32 (2) Ie 4]
75.  The eccentricity of the hvperbola x° —-l-li.f: =1,is:

J3 NG 2 2
(1) 2% (2} “LT (3) ﬁ =) NE]
aifaasra x? —4y? =1 @ el (o) B A L

‘«.'ll.E \."E i 2

= 2) - 3 L
() 3 ) = S (4] N

76.  The equation of the circle which passes through the origin and cut off intercepts

3 and 4 from the positive parls of x-axis and y-axis respectively, is

1 1 : 1 " 75

(1} x"+y" -3x-4y=0 (2} X"y =3y diyp = —
: ==

W w22 . 2 25

(3} x*+y” +dy+3x=0 (4) ¥ +y” +3x+dyv=—
) 4

(22)
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78.

79,

80.
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Herfaeg T TS qrel qun oy Ry el & U ArT | BHE 3 U 4 W OES
BT AT T BT FHIEE B

(1) x? +y*-3x-4y=0 2) x* +J,l’2 =3l =

2
" o=
(3) .\"i+j_|f2 +dy+3x =0 (1) .3{'1-'-!;'2+3I+=-1_];:§

[f O is origin, OP = 3 with direction ratios (d.c.s.) proportional to -1, 2, -2, then
coordinate of P is:

1) (1,-2,2) @ ,2-2) @) [—1,3.—3 (@) (3,6,-6)
by g 4y

AR O Hafam & OP = 3 a1 o718 s auid (d.cs) -1, 2, -2 ® Agow € &
frg P fewms &

153 2
o % (217 =2 el 7O e
1) (1,-2,2) @) (-1,2,-2) {3}[q9 A RHEE
If the poinks (-1, 3, 2}, (4, 2, 2) and (3, 3, &) are uﬂ]mear then value of 2 is:
(1) O (2F 1 (4) 10
W@ﬁil’%ﬁ{—ﬂw?}fmﬂa aETTTS
(1) O (2) 1 (4) 10

The length of perpendicular drown from the point 2 --f+5|':- to the hine
*(115 —zj—sE} ¢ }-.{IDF— 4:r¥r llﬁ?) is (where % is any real number) :

(1) 14 (2) V14 (3) 3 (4) 4

Reg 21-j+5k & W& F=(11i =2 -8k)+ M(10] —4j-11%) ® & T F= B*

s B

(1) 14 (2) V14 (3) 3 (4) 4

Let X 18 aampie mean of a random sample drawn from distribution
flxy= {1+U}1 ' 0<x<1,0>0. What should be minimum value of ¥ to et
moment estimator of 07

(2)

3

1
(3) 4 =

2| —

(1)

o]

| B

(23) PTO.
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81.

82.

S e e T e fo) = (a0t D <x<1,05 0 3 P a1 arghed didee o
sfas wen &) 0@ Ayl ammdE U B ¥ BT SETA A PR

| e

v A : '
2y - (3 4) -
@ 3 3) - ® -

{1}

Ll ] 13

There are five applicants for a job. The applicants are ranked from best o the
worst bul 1t 1s unknown to the employer. He randomly selects bwo applicants,
Which of the following events has maximum probability of selection ?

(1} The worst and one of the two best.

(2) At least one of the bvo best.

{3 Besl and one of the two worst.

(45 None of the two best.

el A B forg i apaef] € el @ v sewt @ WA wvid ca @indag
fovn rar € fetihe Fria & g8 gar 78 &) 98 asfes w2 2 e g
=l € | S wenall § Wi = & aEaien i d waar 2 v

(1) a3 @R 3¥ &1 TWey sl § WS |

(2) <N HEE e § 9 @H O @Y TE |
(3) (TaR] e iR a‘rﬂ?ﬁ#a?ae’ld a
(4) &1 FIY ;BT A W B Ad |

There are three bags, each containing a while and b black balls. One ball is
drawn from first bag and placed in the second bag. Then a ball is drawn from

the second and placed in the third bag. A ball is then drawn from the third bag.
Which of the following is probability of selection of a white ball from third bag?

i i it 71
(1) 2 =1, L
i1+ (2) a+b+1 ( a+h ) av -1

AE @ THE AT b FTE A [ gk O A9 E RS O H 9 o e fowr
W E SR gEe gt § W Rl 81 R gt g9 A A us T P T 2 ek
TR et & vl Wl &) TR R da A O ge e B e 2 e o g s
AR dat W U Wee de Freen @ afiear & ?

. i1 i T N |
{.” - 2 . 3 _i'l"rl
a+h (2) i (3 ol 4 a4+

(24)
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83. Read the following slatements caref wlly in context of the function given below |
F(x)=0, if x<()
= 34, if 0=x<«1
=dc=7¢2,  if 15x<2
=Yc-7e- -1, if 2ex<3
=1, if 3=x.
Assertion (A) : F(x) can be cumulative distribution function of a continuous
positive random variable for properly chosen value of 'c’.

Reason (R) : For proper choice of 'c’, F(x) is monotone and bounded between ()
and 1.

Select your answer from the following codes :

(1) Both A and R is true and R is correct explanation of A,

(2) Both A‘and R is true but Risnot correct explanation of A.
(3) A istrue but R is false.

(4) A is false but R is true.

e fom T wes dd
Fix) =0, T x<l) a a

=3¢, TfE f<x<l
=472,  TE 1=x<2
= Yc-7¢2 -1, TG 22x<3
=1 afe 32x.
@ e # Frerfaiiad weae @ wrgde e
YT (A) : ¢ F AT wART 99 @ o, Fx) 69 T0q g9eme agfes s
Hadl ge Bl B8 HHd 2|
SRUT (R):'c’' & @yt ous & fofl Fix) Thed 3R 03w 1% e g &)
Prferae wel § ¥ S SR g
(1) Asit REFT W81 & T2 A 1 Wl ayremy R 2|
(2) AR RS |81 & W=] A @ 98 @ RAd 2 |
(3) Aval 2fFg R7aad 81
(4) A veid & fsg R 921 2

(25) P.TO.
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84. A non-negalive integer valued random variable takes value k with probabihity

85.

86.

proportional to aM0<a<1} and Fix} denotes its cumulative distribution funchion,
then F(1) is equal to

(1} a (2) 1-a (3) afl-a) (4) 1-a*

w1 O guite HiE gl agfeE W aM0<a<]) & WAEERIG W@ 6o
o k oa] & 3 E(x) 3570 @il se7 e @ wal¥a s & @1 F(1)

(1 a (2} l-a {3) a(l-a) {4} 1-a°

& R 2|

The probability mass function of a random variable X is given below
f(x) = x/15; %= 125,40
= otherwise.

I'hen the conditional probability that X lies belween 1/ 2 and 5/ 2 given that A 1s
greater than one is :

(1) 1/7 (28 3/7 (372715 (4 175
Orglea® dX X @7 Wiwel {= d
[(x) =x/15; x=1, Za a

=0 A |

X @ 1/2 3R 5/2 F 7 Tee @ wioatg uifrear mate B oem § fE X 1w
qﬁaﬁmﬁa.

(1) 1/7 (2y 3/7 (3} 2/15 (4) 1/5

& |

The geometric mean of the distribution [{x} = 6(x-2} (1-x], for 12x<2 s :

(1} (1/16) log(19/6) (2} (1/16) elte/o
(3} (1/6) log(17/6) (1) (1/6) oo
f(x) = 6(x-2) (1—x), 1<x2 & o, g7 & iR Ak &
(1) (1/16) log(19/6) (2) (1/16) e
(3) (1/6) log(17/6) (1) (1/6) 17

(26)
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89.
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A random sample of size n is drawn from a populabion of size N, having mean
ioand standard deviation o, using simple random sampling without
replacement. The covariance between any two sample observations will be

(i) —o=/N (2) —o2/{N-1) {(3) -o2/n (4) -6/ (n-1)
4 p AN A [aan o wEe gl N STaR & Bl auie | on aEw B 0w
gftse uftey we agfes ufrews f afeeneT ugae @ P @ e
fpei Q) wfcrerel Deroli & wea TR

{1} —-o*/N (2} -o*/(N-1) (3) -o/n (4) -a2/(n-1)
T |

The power of a Lestis the probability of :

(1) Rejecting Fo when Hy is true. (2} Rejecting Ho when Hy 1s true.
(3) Rejecting Hi when Hy is true. (4) Rejecting Hy when Hu is true.

fopedy woen &1 Fiide

(1) Ho @1 @R @< o/ Hy 38 8
(2) Hy @ sRAMGR HET wa H, W1 F7)
(3) Hi @ SRR & o H w8

(4) H /@] SErER 4l @ Hy A 8|
‘e v adda

Which of the following statements is ALWAYS true ?
S, : Sum of independent Binomial variable is Binomial variable.
S, : Sum of independent Poisson variable is Poisson va riable.
S:+ Sum of independent Normal variable is Normal variable.
Choose the correct answer from the following :
(1) S and S: are ture but S 1s false. (2) S:and S; are ture but Sy is false.
(3} Si and Sa are ture but 52 1s {alse. (4) Si, Sz and 53 all are true.
Erefafag oo # O $F Rag TEE 7
5, . e f2ug == @ g fgug W dar €
S, - T3 W |Y] @1 AN W e ¥ |
S, - @t SETEEG AR} B AR T B eI
Frefofig 1 9 we 9eR 900 ST
(1) S 3RS adt & g S 7o F (2) S, 3RS ¥ & Uy S WA E |
(3) S ARG WE & W S 7 € (4) S, 53N Sy A G B
(27) P.T.O.
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90.

91,

The equation of pair of regression lines for a given data is reported as

4X +5Y + 33 = 0 and 20X -9Y - 1{I7 = 1L,

Statement(S) : We cannot calculate the corrclation coelficient between XandY.

Reason(R) : 1t is not specific which one is regression of X on Y and which one 15
Y on X.

Choose the correct answer from the following

(1) Sis true and Ris its correct explanation.

(2) Sistrue bul R is not its correct explanation,

(3} Sisfalse but Ris true.

(4} Both S and R are false.

fdt f2v o sfiee & forn wseer YW @ ey 4X + 3Y + 33 = 0 3R
20X -9Y - 107 = 0 31 Hife wialta 8

FUT (S): X 3T Y & Fog @aEwas qoile @) T i qE B w8

FIROT (R) : ¥g =2 fAfvaa (Lo g a [ Vi X BTY AN BR U Y &l X
TR HHIEOT |

frmfafera 4 | @8 wav aafa@ime

(1) SEEE SR R g0 Wl amed &0 42) 8%l & T Rqﬂ'ﬁfl Bel @ T R
(3) S7Ed & g REE £ (1) Sae R 24 o #

IF X 4s a single observation from distribulion with_parameter 2,
congider the Tollowing in the ¢
Assertion(A) : Unbiased estim

Reasan (R) : (-3)* is the only unbiased e=timator of expl=32).

dlion of cxpl=32.)

Choose the correct answoer from the following :

(1) Both A and R is correct and Ris correct explanation ol A,

(2} Both A and R is correct and R is not correct explanation of A.
(31 A s true but Ris false. .

(4) A is (alse but B is true.

T grE b AT R ded | B Twd G 8 o Meifei @ expl-3) @ fig
AMFEHE B FEE H o e . ?
FYA (A): ST sTFEw® FRES 81 Jao ©

BROT (R) : expl=34) BT (=33 070 5077 5T 1|

FreTfefid wet 4 | w8t I wm s i

(1) AR Ram ad & afie & ) a8t e 0y

(2) AR RA W8 & g A 6 Wl aowm Rad e

(3) AW 2 uiw] R &

(4) ATl & UiR] Rl &

(28)
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g3.

94.
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Let X, Xz, ..., X be a random sample from normal distribution with mean (

and variance . I T: = Z"a and T; = Z"-.. then

(1) Trand T; are jnmt]y ﬁufF:CIEnr for 0.

{2) Only Ty is sufficient [or 0.

(3 Only Tois sufficient for (0.

{4) Netther [ nor T- is sufficient for 0,

e B X, Xa, X.ﬁmﬂﬁ?ﬂﬁﬂi]mﬁmﬁﬁﬁﬁémﬁﬂﬁﬂ:

mﬁ*h_Zx aﬁﬂwlx g

(1} T) 9% T &9 ww & 0% &y guhg &
(2) @ad Tp,0 & fon mﬁﬁi 2

(3) waa Ta, O Ffom moig & |

(4) =l Ty, A 8l T & T30 qajeesy

In a 2-factorial experiment, the effect total [A]1s given as:

(1) (1)4+(a)(b)+(ab)+(c)+{ac)~{bc)+(abe
@) -{1)-(a)=(b)-(ab)+c) HWE a
{33 —(HHla-thi+{abl={c)+lac

(4y =(1)-(a) (bH(ab)- (O {ac)-(be)+(abe)
2°-FUTET WA # wE-aeT [A]

(1) (1)+{a)-(b)+(ab)+{c)+{ac)~{bc)+(abc)
(2) ~{1)=(a)=(b)-(ab)+{c)+(ac)+(bc)+(abc)
(3) ={1)+(a)-(b)+{ab)~(c)+{ac)~(bc)+(abc)
(4) =(1)—{a)~(b)+({ab)+(c)+{ac)~{bc)+(abc)
% ove gur e 2|

break’ statement is used for :

(1) to quit the program (2) to continue the program

{3} to go to the next iteration (4} to quii the current iteration
g weeie & yar Feafafte A @ Gl f o 8 2

(1) "rrs &I IE & e (2) T &1 W F@r @ (o
(3 anreT gfevem | v W o (4) Tfar sfeves & wen © B

(29) P.T.O.
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95.

96.

a7.

98.

99.

100.

The decimal number 102 writlen m hilmr}f 5

(1) 0110011 (2} 110011 (3) 110110 (1) L1011
sffHa 3l 102 BT FEad afF womel § & el B e e ?
(1) 0110011 (2) 110011 (3) 110110 (B L0110

Calculate the addition using Binary Arithmetic Operation [or: (1011) + (10810} =7
(1) (10110): (2} (H0113: (3) (L1101 (4 (D010
RIRE RIS E e o T3 B s S e ot e 1 11

(10112 + (1001002 = 7

(1) (10110)2 (2) (10011)- (30 (L), {4} (VOTTO}:
A tlip-flop has two output which are :

{1} AlwaysQ (2) Always ]

(3} Always complementary (4) Always equal

ve freg-ge & a1 sngeye dr Ed B

(1) 739 0 (2) @aa 1

(3) TET A (4) wdT TR

An 8-bit'register contains the binary value 10011100 What is the register value
after arithmetic shift righl 7

(1) 11001110 (2) B1001

e §-fae wWreee 4 agad ﬂﬁa} (

AT T U3 Whwed | 98 6l 4 gl

(1) 11001110 (2) 01001110 (3} 11100111 (4) 10101110

l | (H) UL
¥ il fire wge

The decoded instruction s stored in .................

(1} Instruction Register {2) Program Counter
(3) Memory data Register {(4) CPU Registor

TF EIEISS-SACa hEl W Bl & 7

(1) zwear uey (2) UTTH ®Eex

(3) FFN er Wiy (4) CPU Tawew

Simpson’s formula is applicable to :

(1) odd number of intervals (2) even number of intervals
(3) odd or even number of intervals (4

R g Frafaften 3 & g awygan & 2

(1) siavre Eem fawy 89 (2) ST T 9E B O
(3) RIS W @Y Oy fays g ue (4) e wEn s g o

) when interval is more

(30)
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(=)

11.

13.

l‘;l‘

apafRfal & ferg Frdw

RO T T FloTHodMRo Iad-T4 &l

o R @ A @i o1 e et
i o o AT

are e G 08 led)

. : ¥ ofs s WUl
gl YRawr BT @ a0 [FE 6 &R & 2w & f yeaud i wdl go HINE £ SiE P AR
ar Wil & | qfaEn Wy T G U T A deblol b [rfarb @] Sw T BRI
1 el ufte grm FT A
GRen e B gaee v o HNOREE [E A O AT W e FAS iR 4 A W
OMR Sa-Ts a0 & 2w v 21 gv 0 af ald sk o o) Qg )R OMR ST S
P T ) dae OMR GawUF B 8 e [ G )

s A ) A el @ wRifiedt @ wa A ae—age 1 F o

OMR TER-TH @ ¥UW TS W U9 A e s PafRa wert Wi g A fa gat
#1 Ml FY | wE-oE mavad w a8t we-gRed! @1 HAiG 9T e &7 TR s et
e forwd |

Sl We 3o YR WX WTEHTE W, WETRamm we d A2 ae (f2 @ie eu doT wEi-
uficpt O aFT@MIE @l 1 3o THe 3i¥o T i I T RS R e A Mty i

o

gudert dfed) 3 BIE A uRar- e R R s 1 g

TRl S T S

neH- Y § ueTR ¥Id & AN T a/f’-ﬂ’c.b' Wod F dinllch derd p [
HIGE FORTR B Helid Gl o ! JEhisdE BT i i G
Pdei & s ard—arge 0 W A e 2y

Gl U9 & UEY & ferdl @ad UH B gu @l Ml BN UE W RGBT g ger
T W e T e W)y g8 TER el HEA A |
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Obijectives of education are decided by :
(1) Philosophy of Education

(2) Sociology of Education

(3) Psychology of Education

(4) Technology of Education
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Interpretation of meaning depends upon :

(1) MPast experience | R\.fcholnglcai state
(3) Present circumstances a rmc state
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The most important challenge before a teacher is :
(1} To maintain discipline in the classroom
(2) To make students do their home work
(3) To make teaching-learning process enjoyable
(4) To prepare question paper
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